# ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

# **TABULATION OF BIDS**

#### **CONTRACT # 2025037**

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 MO MM0 T050001C MM0-0-(232)T		104018	MOHAVE	NORTHWEST	0		Brandon Campbell

Highway Termini	Location	Work Description
-----------------	----------	------------------

• MOHAVE COUNTY • VARIOUS LOCATIONS

•VEHICLE TO TRAFFIC CONTROL SIGNS

#### Printed: 7/25/2025 Page 1 of 3

## **BID RESULTS FOR 2025037**

Bid Opening Date: 6/13/2025, Prequalification Required, Engineer Specialist: Brandon Campbell

#### **Completion Date:**

220 Working Days

The proposed project is located at various locations in Mohave County on Oatman Highway, Boundary Cone Road, Shinarump Drive, Stockton Hill Road, Pierce Ferry Road, and London Bridge Road. The work consists of improving the safety of stop-controlled intersections. The work includes installing stop-sign gap assist (SSGA) systems at various locations.

Bid Rank	Compared To Department Estimat Option #	# Bid Amount	Contractor	Extended Sum of Items
	+%	\$720,000.00	DEPARTMENT ESTIMATE	\$720,000.00
1	+26.8%	\$913,270.25	ROADWAY ELECTRIC, LLC 8660 E. Hartford Drive # 305 Scottsdale, AZ 85255-	\$913,270.25
2	+34.0%	\$964,910.00	MICHIANA CONTRACTING, INC. 7843 LILAC ROAD PLYMOUTH, IN 46563-	\$964,910.00
3	+41.7%	\$1,020,150.00	AJP ELECTRIC, INC. 1920 W. CHERYL DRIVE PHOENIX, AZ 85021-	\$1,020,150.00

Winning Bidder is 26.8% Over Department Estimate (Difference = \$193,270.25)

# Printed: 7/25/2025 Page 2 of 3 \*\*\* Bid Tabs for Proposal Pamphlet 2025037 \*\*\*

 ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
 7010005	L.SUM MAINTENANCE AND PROTECTION OF TRAFFIC						
Bid Rank	Department	Estimate	1.000	\$30,000.000	\$30,000.00		
1	ROADWAY	ELECTRIC, LLC		\$34,838.000	\$34,838.00	+16.1%	
2	MICHIANA (	CONTRACTING, INC.		\$17,500.000	\$17,500.00	-41.7%	
 3	AJP ELECT	RIC, INC.		\$10,000.000	\$10,000.00	-66.7%	
7310011	EACH	POLE (TYPE A) (15FT)					
Bid Rank	Department	Estimate	11.000	\$2,000.000	\$22,000.00		
1	ROADWAY	ELECTRIC, LLC		\$1,915.000	\$21,065.00	-4.3%	
2	MICHIANA (	CONTRACTING, INC.		\$2,750.000	\$30,250.00	+37.5%	
 3	AJP ELECT	RIC, INC.		\$1,700.000	\$18,700.00	-15.0%	
7310197	EACH	BREAKAWAY BASE FOR LIG	SHTING POLE OR SIGNAL FLAS	SHER			
Bid Rank	Department	Estimate	11.000	\$2,500.000	\$27,500.00		
1	ROADWAY	ELECTRIC, LLC		\$889.000	\$9,779.00	-64.4%	
2	MICHIANA (	CONTRACTING, INC.		\$1,400.000	\$15,400.00	-44.0%	
 3	AJP ELECT	RIC, INC.		\$1,700.000	\$18,700.00	-32.0%	
7310200	EACH	POLE FOUNDATION (TYPE	A)				
Bid Rank	Department	Estimate	11.000	\$2,000.000	\$22,000.00		
1	ROADWAY	ELECTRIC, LLC		\$1,950.000	\$21,450.00	-2.5%	
2	MICHIANA (	CONTRACTING, INC.		\$5,000.000	\$55,000.00	+150.0%	
 3	AJP ELECT	RIC, INC.		\$3,500.000	\$38,500.00	+75.0%	
7370421	EACH	ELECTRICAL SYSTEM (STO	P SIGN GAP ASSIST SYSTEM)				
Bid Rank	Department	Estimate	11.000	\$35,500.000	\$390,500.00		
1	ROADWAY	ELECTRIC, LLC		\$46,253.000	\$508,783.00	+30.3%	
2	MICHIANA (	CONTRACTING, INC.		\$45,000.000	\$495,000.00	+26.8%	
 3	AJP ELECT	RIC, INC.		\$52,620.000	\$578,820.00	+48.2%	
7370423	EACH ELECTRICAL SYSTEM (CONNECTED VEHICLE ONBOARD UNIT)						
Bid Rank	Department Estimate		10.000	\$10,000.000	\$100,000.00		
1	ROADWAY	ELECTRIC, LLC		\$9,999.000	\$99,990.00	0.0%	
2	MICHIANA (	CONTRACTING, INC.		\$12,000.000	\$120,000.00	+20.0%	
 3	AJP ELECT	RIC, INC.		\$12,720.000	\$127,200.00	+27.2%	
7370452	L.SUM MISCELLANEOUS ELECTRICAL (MONITORING SOFTWARE)						
Bid Rank	Department	Estimate	1.000	\$27,000.000	\$27,000.00		
1	ROADWAY	ELECTRIC, LLC		\$132,320.000	\$132,320.00	+390.1%	
2	MICHIANA (	CONTRACTING, INC.		\$123,000.000	\$123,000.00	+355.6%	
 3	AJP ELECT	RIC, INC.		\$163,230.000	\$163,230.00	+504.6%	
9010001	L.SUM	MOBILIZATION				<u> </u>	
Bid Rank	Department	Estimate	1.000	\$86,000.000	\$86,000.00		
1	ROADWAY	ELECTRIC, LLC		\$48,763.250	\$48,763.25	-43.3%	

# Printed: 7/25/2025 Page 3 of 3

### \*\*\* Bid Tabs for Proposal Pamphlet 2025037 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
9010001	L.SUM	MOBILIZATION					_
Bid Rank	Department	Estimate	1.000	\$86,000.000	\$86,000.00		
2	MICHIANA	CONTRACTING, INC.		\$90,760.000	\$90,760.00	+5.5%	
3	AJP ELECT	RIC, INC.		\$40,000.000	\$40,000.00	-53.5%	
9250001	L.SUM	CONSTRUCTION SURVEYIN	G AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$15,000.000	\$15,000.00		
1	ROADWAY	ROADWAY ELECTRIC, LLC		\$36,282.000	\$36,282.00	+141.9%	
2	MICHIANA CONTRACTING, INC.			\$18,000.000	\$18,000.00	+20.0%	
3	AJP ELECT	RIC, INC.		\$25,000.000	\$25,000.00	+66.7%	